AOET Iy R

ER = R=Rtch] SHO6E1 1AL SHO6EL2A SHMER 110 B
. AN AN
Fxkkkk ok ok ok RS ok ok % (k)
H % e s 8
21,393 A 43,232 A 21,839 A
% L
2900 1?00 1?00 ?00 1‘100 N4 s K 1‘100 §00 1%00 1?00 2900
3
+ 21100~ 37 +
+ % 45195 ~99 154 %4
+ % % % 154190 ~94 447 ¥kkkkkkkkkx+
+xkkkkkkkx ¥k 436 |85~ 89 705 ¥kkkkkkkkkxkk kx4
+kkkkkkkkkkkkkkkkk k% 768 |80 ~ 84 1025 fkkkkkkkkkkkkkkkkkkkkkkkkd
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkk 1167 |75 ~79 1400 kkdkkkkkkkkdkkkkkdkkkhkdkkdkkkkdkxkkkk
+xkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk 1472 |70 ~74 1628 fkkkkkkkkkkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkx4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkxk 1287 |65 ~69 1345 kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk k%4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkk k% 1201 160 ~64 1226 fkkkkkkkkkkkkkkkkkkkkxkkkkkxkk4
+kkkkkkkk bk kk kR kR kkkkkkkk k% 1325 155 ~59 1230 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkk+
+kkk bk k bk kb kkk kR kR kkkkkkkkkkkkkkkkkkk k& 1767 |50 ~54 1582 kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkx+
thkkkk kb kR kR kkkkkkkkkkbkhkkkhkdkkkkkkkxkkx% 1717 |45~ 49 1685 kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk4
+kkkkkk bk kb kkkkkk bk kR kR kR kkkkkkkkk 1445 |40 ~ 44 1418 kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkx+
Tk kkk kb bk bk kb kb kR kR Rk kkkkk k% 1332135 ~39 1240 kkkkkkkkkkkkkkkkkkkkkkkkkkkxk k&
+kkkkkkkkkkkkkkkkkkkkkkkkk k& 1104 |30~ 34 1056 kkkkkkkkkkkkkkkkkkkkkkxkkk4
+hkkkkkkkkkkkkkkkkkkkkkkkkkxk 113125~ 29 952 ¥kkkkkkkkkkkkkkkkkkkkxk4
+kkkkkkkkkkkkkkkkkkkkkkkkkkk k% 1187 120~ 24 1158 kkkkkkkkkkkkkkkkkkkkkkkkkkkx+t
+hkkkkkkkkkkkkkkkkkkkkkkkkkxk 1148 |15 ~19 1033 fkkkkkkkkkkkkkkkkkkkkkkkkd
+kkkkkkkkkkkkkkkkkkkkkkkkkk 1075110~ 14 1022 fkkkkkkkkkkkkkkkkkkkkkkkkd
+kkkkkkkkkkkkkkkkkkkk k% 917 b~ 9 826 fkkkkkkkkkkkkkkkkkk k4
+xkkkkkkkkkkkkkkkk 713 0~ 4 670 fkkkkkkkkkxkk kx4
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